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НЭГДҮГЭЭР ХЭСЭГ 

Санамж: Нэгдүгээр хэсэг нь 47 сонгох даалгавартай, нийт 80 оноотой. Даалгавар тус 

бүр сонгох хариулттай.Тэдгээрийн зөвхөн нэг зөв хариултыг сонгож хариултын 

хуудсанд будаж тэмдэглээрэй. Хариултын хуудасны заавартай сайтар 

танилцаарай. 

АМЖИЛТ ХҮСЬЕ! 

SECTION 1                                         GRAMMAR 

Choose the correct answer to complete the sentences.                                      / 9X1=9 / 

1. All the available ________ show that the revolution started in the east. 

A. data              B. datum           C. datas           D. date               E. dates 

2. Slowly, _________ children began coming to school in this village. 

A. few              B. a few                C. little              D. a little          E. much 

3. I don’t think you ________ offer to help him. You’ve got enough work to do yourself. 

A. shouldn’t      B. mustn’t           C. have to       D. ought         E. can’t 

4. That is the house _________ was built last year. 

A. which             B. who               C. whose           D. where         E. whom 

5. Laura dreams of _________ on a small island. 

A. lived             B. live               C. being lived         D. living          E. to live 

6.  Luke works as ________  as David . 

A. more harder           B. harder          C. hardest         D. the hardest       E. hard  

7. She apologized __________ upsetting him. 

A. for             B. of                  C. on                 D. in                E. about 

8. Bad news _______ fast. 

A. to travel      B. travels         C.travel          D. traveling       E. have traveled 

9. The earlier we leave, ______ we’ll arrive. 

A. as soon as      B. more soon       C. sooner       D. the sooner       E. soon   

Task 2. Choose the word or phrase that best completes each sentence.           / 4X2=8 / 

10. If the government _______ their promise, taxes ________ up last year.  

A. have kept/would have gone      B. keep/will go     C. had kept/wouldn’t have gone                 

D. keeps/will have gone                 E. had been kept/wouldn’t have gone 

11. Emily didn’t participate in the contest __________ her lack of confidence. 

A.  even though      B. because       C. because of    D. although      E. however 

12. Any projects ______________ in the last few months. 

A. haven’t done 

B. have done 

C. has been done 

D. haven’t been done 

E. hasn’t been done 
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13. Tom said, “I want to visit my friends this weekend.” 

A. Tom said he wanted to visit his friends this weekend. 

B. Tom said he wants to visit his friends that weekend. 

C. Tom said he wanted to visit his friends that weekend. 

D. Tom said he wants to visit his friends this weekend. 

E. Tom said I wanted to visit his friends this weekend. 

Task 3. Identify the one underlined word that is not correct.                                            /3X3=9/ 

14. Roman numericals are written from left to right using the principle of addition. 

A. numericals       B. written        C. using          D. principle         E. addition 

15. When a bee stings an animal, the insect’s stinger remaining in the wound. 

A. stings        B. the insect’s         C. stinger       D. remaining       E. the wound 

16. In long-term memory, the stronger the connection between events, the likely they are to 

be retired. 

A. long-term           B. stronger     C.  events        D. likely        E. be retired 

 

SECTION 2                                         VOCABULARY 

Task 1. Choose the best answer.                                                                            / 9X1=9 / 

17. Which item is made from wool? 

A. a T-shirt     B. sandals      C. a fur coat       D. a necklace     E. a pull-over  

18. A young cow is called a __________ . 

A. fawn             B. foal             C. lamb          D. calf       E. cub 

19. A part of the building which is below the ground level. 

A. basement      B. shade        C. gate           D. garage       E. fence 

20. Name the means of transport which is controlled by a captain and stops at a port. 

A.  airplane        B. ship         C. spaceship      D. subway      E. tram 

21. A person who steals something from a supermarket is a ________ . 

A. shoplifter      B. pickpocket     C. burglar     D. robber     E. mugger 

22. I just can’t come out with you tonight as I’ve got so _________ with my work. 

A. behind          B. up           C. over           D. away          E. along 

23. It was dull and cloudy. 

A. There were a few wintry showers.        B. It was quite misty.         C. We had 

thunder and lightning.            D. It was very overcast.             E. There was 

a  bit of drizzle. 

24. I love it here. Everything I want is only five minutes away. It’s so ___________ . 

A. efficient       B. convenient      C. crowded     D. inconvenient      E. stressful   

25. In nineteen oh three. 

A. the year somebody was born 

B. the score in a tennis watch 

C. a telephone number  

D. the temperature  

E. the result of a football match 
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Task 2. Use these verbs in the box to complete the story.                                 / 5X2=10 / 

A. identified               B. called            C. sentenced            D. committed          E. pleaded 

Ron hired the best lawyer he could find to defend him. He (26) _____________ not guilty. 

When he was (27) __________ to give evidence, he said he had been somewhere else over 

100 miles away when the crime was (28) _____________ .  Unfortunately, for Ron, three 

witnesses  (29) _____________ him as the man they had seen at the scene of the crime. He 

was found guilty and (30) ____________ to three years in prison.  

Task 3.                                                                                                                 / 3X3=9 / 

31. In which of the following sentences “to put on” means “to attach or affix 

something to another thing?”  

A. I need to go on a diet. I’ve been putting on a lot of weight lately.  

B. Jerry put too much fertilizer on his lawn and now has to cut it twice a week. 

C. Eric forgot to put suntan lotion on, and now he’s as red as a lobster. 

D. The club put on a show to raise money for the party. 

E. The tailor to put the red buttons on the dress he’s making for me. 

    32.  Choose the particle that best fits in the gap.  

       The store owner was held ___________________ by three men wearing ski masks.                                           

A. down        B. back          C. up          D. in            E. on 

33. My grandma said, “If you don’t wear an undershirt, you’ll ___________________   

down with pneumonia.’’                                                      

        A. come             B. get           C. put         D. take             E. hold 

SECTION 3.                                    COMMUNICATION 

Task 1. Read the conversation and choose the correct answer.                         / 3X2=6 / 

34. Woman:        Could you fill it up with unleaded? 

Man:              Sure. Do you want me to check under the hood? 

Question:  What kind of work does the man do? 

A. He’s a gas station attendant. 

B. He’s a dentist. 

C. He’s a plumber. 

D. He’s an actor. 

E. He’s an electrical engineer. 

35. Man:          I’m looking for the dressing.         

Woman:     They’re in aisle 5 next to the produce. 

Question: Where does this conversation take place?  

A. In a supermarket. 

B. In a hospital. 

C. In a clothing store. 

D. In a restaurant. 

E. In a library. 
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36. Man:         Are you enjoying this modern art exhibit? 

Woman:    Not really. I prefer the Impressionist painters. 

Question: Where is this conversation taking place?  

A. In a bookstore. 

B. On a bus. 

C. At a hair salon. 

D. At a museum.   

E. At a supermarket. 

Task 2.  Choose the best answer.                                                                            / 2X3=6 / 

37.  Woman:    Have you made our plane reservations yet? 

 Man:        No, I’m leaving it up to you.  

 Question: What does the man want the woman to do? 

A. Get someone else to make the reservations.       

B. Leave him alone. 

C. Let him make the reservations. 

D. Not to make any reservations. 

E. Make the plane reservations. 

38. Woman: I’ve got a great idea for our class reunion. 

Man: I knew you’d come up with something. 

      Question: What does the man mean? 

      A. He wasn’t expecting her to have a plan. 

B. He knew she would bring him something. 

C. He was sure she would think up an idea. 

D. He wasn’t sure she would come up with a good idea. 

E. He thought she would be coming to see him. 

 

SECTION 4.                                               READING             

 

Task 1. Read the passage and choose the correct answers.                                 / 6X1=6 / 

 

According to airline industry statistics, almost 90% of airline accidents are survivable or 

partially survivable. But passengers can increase their chances of survival by learning and 

following certain tips. Experts say that you should read and listen to safety instructions before 

takeoff and ask questions if you have uncertainties. You should fasten your seat belt low on 

your hips and as tightly as possible. Of course, you should also know how the release 

mechanism of your belt operates. During takeoffs and landings, you are advised to keep your 

feet flat on the floor. Before takeoff you should locate the nearest exit and an alternative exit 

and count the rows of seats between you and the exits so that you can find them in the dark 

if necessary. 

In the event that you are forewarned of a possible accident, you should put your hands on 

your ankles and keep your head down until the plane comes to a complete stop. If smoke is 

present in the cabin, you should keep your head low and cover your face with napkins, towels, 

or clothing. If possible, wet these for added protection, against smoke inhalation. To 

evacuate 

as quickly as possible, follow crew commands and do not take personal belongings 

with you. Do not jump on escape slides before they are fully inflated, and when you 

jump, do so with your arms and legs extended in front of you. When you get to the 
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ground, you should move away from the plane as quickly as possible, and never smoke near 

the wreckage. 

39. What is the main topic of the passage? 

A. Safety instructions in air travel 

B. Procedures for evacuating aircraft 

C. Airline industry accident statistics 

D. How to survive the fire in the cabin 

E. Guidelines for increasing aircraft passenger survival 

40. Travelers are urged by experts to read and listen to safety instructions  

A. before take off 

B. before landing 

C. in an emergency  

D. before locating the exits 

E. if smoke is in the cabin   

41. According to the passage, airline travelers should keep their feet flat on the floor    

A. throughout the flight 

B. only if an accident is possible  

C. in case an accident happens  

D. especially during landings 

E. during takeoffs and landings                                                                                                                                                                                                                                                                                              

42. According to the passage, which exits should an airline passenger locate before 

takeoff?                                              

     A. The one that is nearest the passenger                                                                                                                                              

     B. The one that can be found in the dark                                                                                                                                        

           C. The one that is nearest the exit                                                                                                                                              

     D. The two closest to the passenger’s seat 

     E. The ones with counted rows of seats between them                                                                                                                                                  

43. It can be inferred from the passage that people are more likely to survive fires in 

aircrafts if they                                            

       A. don’t smoke near a plane 

       B. wear a safety belt    

       C. keep their heads low    

       D. don’t smoke in a plane 

       E. read airline safety statistics     

44. The word “evacuate” in line 13 is closest in meaning to 

       A.  flee          B. evade            C. avoid         D. vacate       E. remain                                                                                                                                                                                            

 

Task 2. Read through the following text and then choose the best phrase or 

sentence to fill each of the blanks, from A-D There are two extra.                 / 2X3=6 / 

From the poles to the tropics, weather determines the way we live. Most cultures have 

developed technology to conquer the elements-using clothing, housing and food to 

adapt to extremes of climate. Eskimos have learnt to cope with temperatures that drop 

to                 -50° C.  They pile on layers of clothes and 45. ___________. The average 
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Eskimo male has a metabolic rate thirty percent higher than the average European. But 

this is the result of a diet low in carbohydrates and high in protein and fat, not because 

they are born with this advantage. It’s quickly lost if the diet is changed. Eskimos have also 

evolved short arms and legs (46) ____________ . 

A. they contribute to their diet 

B. so they radiate heat more effectively   

C. retreat to the insulation of their igloos for warmth  

D. so they have less surface area to radiate heat  

Task 3. Read the following statements and circle the letter of the best answer based 

on the information given.                                                                                   / 1X2=2 /                                                                          

      The Academy of Dog Training supplies law enforcement agencies with German shepherds   

      which are trained to recognize the smell of marijuana and other drugs. 

      In which of the following places would these German shepherds most likely be used? 

     47. Choose the best answer. 

A. At customs checks between borders 

B. At scenes of violent crimes 

C. Where burglaries have taken place 

D. Where road accidents have taken place 

E. At sports arenas 

                                     

ХОЁРДУГААР ХЭСЭГ 

Санамж: Хоёрдугаар хэсэг нь 3 даалгавартай.Нийт 20 оноотой. Хариултын хуудасны 

заавартай сайтар танилцаарай. 

2.1. Read the passage and fill in the gaps with correct word forms.                  / 6X1=6 / 

When the (a) _________ of the western United States abandoned their original log cabins, 

sod houses, and dugouts, they built small, wood-framed (b) ________ of one or two rooms 

without a basement. Rooms were usually added as (c) _________ families grew larger. This 

usually (d) ________ in a series of large, open rooms (e) ________  end to end so that each 

would have an (f) ________ amount of sunlight. 

a. 1. settler          2. settlement          3. settle              4. settled             5. settlers 

b. 1. dwell            2. dweller               3. dwellings        4. dwellers          5. dwelt 

c. 1. prosper        2. prosperous         3. prosperity       4. prosperously   5. prospers 

d. 1. result           2. resulted              3. resulting         4. results             5. resultant 

e. 1. laid               2. lay                      3. lays                4. lain                  5. layer 

f.  1. equally         2. equality              3. equalize         4. equals             5. equal     
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2.2. Read the sentences and find the SYNONYM of the word in bold.                 / 4X1=4 /  

  a. I’d rather stay in a hotel with all the amenities than camp in the woods. 

          1. expenses          2. meals             3. conveniences      4. parties         5.sports 

  b. The woman scarcely spoke a word of English. 

          1. fluently              2. secretly          3. certainly        4. hardly        5. Vividly 

c. The new employee was the replacement for Mr. Topper, who retired last month. 

          1. substitute          2. understudy      3. reserve          4. tutor              5.expert 

  d. Weapons of mass destruction, including nuclear weapons, were to be forbidden in space. 

          1. destroyed           2. banned          3. avoided           4. advanced       5. introduced 

 Choose the word that is the opposite (ANTONYM) of the underlined word.      / 4X1=4 / 

  e.  Jack was found guilty of reckless driving. 

            1. carefully           2. wrong             3. careless          4. drunk            5. cautious 

 f. The northernmost section of the Rocky Mountains, the Brooks Range, is located in a      

remote section of Alaska. 

 1. isolated            2. distant           3. reliable           4. radiant            5. close 

g. Florida has a humid climate. Summers there are particularly hot and damp. 

         1. foggy               2.humid          3. sweaty             4. dry                5. drizzly    

h. The war memorial was finally erected in the center of the park.   

        1. demolished       2. built           3. assembled        4. designed       5. constructed 

 

2.3. Complete the text below with these words in the box:                                    / 6X1=6 

 

1. starvation       2. epidemic       3. refugees        4. contaminated      5. supplies        6.starving         

 

                                                             Drought 

The drought in East Africa will once again bring famine and (a) ________ to the region 

unless desperately needed aid arrives soon. People are drinking (b) _________ water and 

there is a growing risk of an (c) ________ .  Aid workers say that thousands of (d) 

________ are already flooding across the border into neighboring countries where the 

situation is not much better. Families have walked up to 100 km with many parents carrying 

(e) ________  children. Fifteen planes are leaving from France tomorrow morning and will 

drop food (f) _________ and  medicine. 

 

 

 

 

 


